An accountant wishes to predict direct labor cost (y) on the basis of branch size (x) of a product produced in a job shop. A sample of 14 production runs revealed the following:

Refer to Table 11A on the Handout for MegaStat output.

Part A 
Analyze the above output to determine the regression equation.

Part B 
What conclusions are possible using the meaning of b0 (intercept) and b1 (size) in this problem? (That is, explain the meaning of the coefficients)

Part C 

What conclusions are possible using the coefficient of determination (-sqaured)?

Part D 
Calculate the coefficient of correlation. Interpret this value.

Part E 
Does this data provide significant evidence (alpha=0.05) that the direct labor costs are associated with the size of a batch? Find the p-value and interpret.

Part F 
Predict the average direct labor cost for a batch size of 100.

Part G 
What is the 95% confidence interval for the direct labor cost for a batch size of 100. What conclusion is possible using this interval?

